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3. Sketch (4&) the streamlines for the 2D flow

u=ax, v=-—ay
where u and v = velocity in the x and y directions, and a = a positive constant. Let the concentration
(R/E) of some pollutant (J5Z44#)) in the fluid be

c(x,y,t) = bx?ye~%
for y> 0, where 7 = time and 5 is a constant. Does the pollutant concentration for any particular
fluid element change with time? (20%)
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5. Afluid with density of p is siphoned ($[ ) from a large tank through a constant diameter hose
(7K%&). Determine the maximum height, H, over which the water can be siphoned without
cavitation (fL.) occurring. Assume vapor pressure (F£5H%) = p, and atmospheric pressure (K
REE) = pq- (20%)
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